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	2016 August SAP Official New Released C_TBIT44_731 Dumps in Lead2pass.com! 100% Free Download! 100% Pass

Guaranteed! We never believe in second chances and Lead2pass brings you the best C_TBIT44_731 Exam Questions which will

make you pass in the first attempt. We guarantee all questions and answers in our C_TBIT44_731 Dumps are the latest released, we

check all exam dumps questions from time to time according to SAP Official Center, in order to guarantee you can read the latest

questions! Following questions and answers are all new published by SAP Official Exam Center: 

http://www.lead2pass.com/c-tbit44-731.html QUESTION 41 You can influence the transactional behavior during the definition of

an integration process in the process editor. This can improve the performance of your integration process. Which step types allow

the suppression of the creation of a new transaction? Note: There are 3 correct answers to this question. A.    Transformation Step B. 

  Receiver Determination Step C.    Receive Step D.    Send StepAnswer: ABD QUESTION 42 When deciding whether an

integration process might be the right solution for your integration scenario, you have to consider some prerequisites. Which of them

are relevant for integration processes? Note: There are 3 correct answers to this question. A.    The messages to be processed are

related to each other in some way. B.    The scenario must require synchronous communication. C.    The process should have a clear

end condition. D.    The scenario does not require complex user interaction. Answer: ACD QUESTION 43 Which of the following is

a correct statement about a Software Component? A.    A Software Component is a unit of software delivery that has its own

versioning and its own support package track. B.    A Software Component is the basic building block of an enterprise service. C.   

A Software Component is a collection of Products; both the Software Component and the Products have their own versions. D.    A

Software Component is an alternate means of organizing content development within the Enterprise Services Directory. Answer: A

QUESTION 44 You are working in the System Landscape Directory (SLD) defining a Business System for use in an IDoc scenario.

Why do you assign a Logical System name? A.    The IDoc adapter will make use of this entry to resolve a Business System name

into an ALE logical system name and vice-versa. B.    If a Logical System name is defined for the Business System, the Integration

Directory can automatically determine a receiver. C.    Definition of the Logical System name in the System Landscape Directory is

required by the ALE distribution model in the sender system. D.    The SOAP header of the inbound message uses the Logical

System name. Answer: A QUESTION 45 When creating a Technical System in the System Landscape Directory you select and add

the Software Products that are installed on this Technical System. As an option you can de-select the Software Components

associated with the selected Products. Why is this option necessary? A.    The Software Component is required only for transport

purposes. B.    Certain Software Components might not be part of the particular version of the product. C.    The developer using the

Technical System description may not have sufficient authorization to work with the Software Component in question. D.    The

appropriate Technical System may not include all possible components of the selected products. Answer: D QUESTION 46 You

want to build a proxy based on a service interface. Where in Enterprise Services Repository can you define the required message

type? (Choose two) A.    In a software component that underlies service's interface software component B.    In any software

component independent of the service's interface software component C.    In a local software component D.    In the same software

component as the service interface Answer: AD QUESTION 47 Why do you use a service registry in an SOA landscape? A.    To

store security tokens centrally B.    To find the available Web services C.    To find the available system landscape specification D.   

To define Web service interfaces Answer: B QUESTION 48 What is included in SAP NetWeaver Process Orchestration? (Choose

three) A.    SAP NetWeaver Enterprise Portal B.    SAP NetWeaver business process management C.    SAP NetWeaver Business

Rules Management D.    SAP NetWeaver master data management E.    SAP NetWeaver Process Integration/Advanced Adapter

Engine Extended Answer: BCE QUESTION 49 In which cases do you need to use ccBPM processes? (Choose two) A.    When

collecting messages B.    When querying databases C.    When using a synchronous/asynchronous bridge D.    When using scenarios

that are based on an AEX installation Answer: AC QUESTION 50 Which Web-services-related protocol is supported by SAP

NetWeaver PI 7.31? A.    Web Services Description Language (WSDL) B.    WS-Reliable Messaging (WS-RM) C.   

Representational state transfer (REST) D.    Open Data Protocol (OData) Answer: B  Lead2pass new released C_TBIT44_731 PDF

are now for free download, download it right now and pass your exam 100%. C_TBIT44_731 new questions on Google Drive: 

https://drive.google.com/open?id=0B3Syig5i8gpDX0daUmpMRVFuUjQ  2016 SAP C_TBIT44_731 exam dumps (All 96 Q&As)

from Lead2pass: http://www.lead2pass.com/c-tbit44-731.html [100% Exam Pass Guaranteed]
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